IpakTuyeckoe 3aganue Ne3 /Iludpepenunanbubie ypaBHeHUA

HpaKTI/I‘-ICCKOG 3aaHUC BBIIIOJHACTCA CTYACHTAMH B COOTBCTCTBHUU C HavyajabHOU 6yKBOI>i

hamuuu:

A - b - 1 BapuanT O - P - 6 Bapuanr

B - T - 2 Bapuant IT - P - 7 Bapuanr

I - K - 3 Bapuant C -V - 8 BapuaHt

3 - K - 4 Bapuant @ - I - 9 BapuanT

JI - H - 5 Bapuant Y - I - 10 BapuanT
3 -4 - 11 Bapuanr

Bapuant Nel

1) (x+xy?)dx+ (y — x*y)dy =0

3) xdx + ydy = (x* + y?)dx
5) yy'ctgx —sin x(1—y?) =0

ny-(y)=y

9) Y'+y=——
sin x

2) Xyl_y: [XZ +y2

4) Yy +2xy =xe ™, y(0)=2.

6) " —% y“ =0

8) Y'+y" -y —y=xe"-sinx
%:4x—y

10) | dy , X(0)=-1 y(0)=0.
E:x+2y

Bapuant Ne2

1) ytgx=y* -3y +2

X y

d
Dy Iy

5) xy(xy? +1)dy —dx =0

dy=0

7) (L+x3)y"+(y)’ +1=0

9) y"+ 25y = ctg5Sx

2) (x+y)dx+(y—x)dy=0

4) ysinx+y'cosx=1

6) V' +(y)* =x(y)?

8) y"—2y"+y'=2e" +cos3x

—=06X-Y
10) dyt , x(0)=1, y(0)=-1.
— =3X+2
dt y



Bapuant Ne3

1) y'=e*”? 2) Xy'=Yyln y

X

3) (2xcosy — y*sin x)dx + (2y cosx — x* sin y)dy = 0

4) y'— yctgx = 2xsin x 5) xdy + ydx = y2dx
6 yn:i_i_x_z 7 Eyn_e4y
) Xy ) 5

8) y“ —2y"+y =3e* +4sinx

%=2x—9y
9) y' -2y’ +y=¢e*Inx 10) | dy , X(0)=-2, y(0)=-1.
— =X+8y
dt
Bapuant Ne4
, 3x—4y-2 YLy
DY = x—ay-3 Y =3T%

_aY y
MdX-F( € 2+1jdy:0 4) y'+5y:1OX+2

3) (1+ x?)? 1+ X
5) 2xyy’ —y? +x =0 6) y"—ctgx-y’ = ctgx
7) 6yy"—5(y")* =0 8) y"+4y’ =x-3sin2x
dx
X E =X=Y
X — = 4x -3y

dt



Bapuant NeS

1) (xy? + x)dx + (x> Ydy =0 y) y':l_BX_3y
) (xy* + +(X7y —y)dy = ) Texty
' y
2y, 3 3 9,2 _ _
3) Bxy—y?)dx+(x*-3y°x)dy =0 4) Y Xty
4 y_ 2 " ,
o) Y+ =X 6) Xy" =2y’ —X
7) " =(y)* 8) Y —y" —2y” = 3x + 053X
X %:ZX—Sy
9) 2y”—4y’+2y=e— 10) d;[, , X(0)=0, y(0)=-1.
X ay _
=3X+2Yy
dt
Bapuant Ne6
1) tg ydx — ctg xdy =0 2) (y? —=x%)y' +2xy =0
1 x 1 2
y X y- X X
5) Xy'—y?’Inx+y=0 6) Xy"+Yy =1+X
7)2(y) =y"(y-1) 8) Y +9y”" = x* + 2cos 3x
%:2x+y
9) y"+4y =tg2x 10) | dy , X(0)=-2, y(0)=1.



Bapuaunt N7

1 X r_ AX y,_3X+y—l
1) L+e")yy'=e 2) oy
y X 1 _
-2 _ldx+| —+—1dy=0 '
3) (‘N 33\/F} (2 y W] y 4) y'=y+sinx
' y 2 " , y’
)Y Y 6) xy"=yin-
Dy 0 vy sy-x€ -3
%—x+y:0
9) Y’ +4y =—5 10) dyt , X(0)=-1, y(0)=0.
oS X —+4x-4y =0
dt
Bapuant Ne§

1) (4y +2x+3)y' =2y —x-1=0 2) x(Inx—In y)dy - ydx =0

3) y-x"dx+x” Inxdy =0 4) y'+3y =e?
'—3—y 3y? = " ’ .3
5) Y-~ +x¥ =0 6) y" — 2ctgx- y' = sin® X
7) ¥ =5(y)"tgsy =0 8) y"— 5y’ 6y =sin2x— x’e "
%+2y:x
9) yr'+16y:Sin3X 10) dy , X(O):l’ y(O):_z
a7



Bapuant Ne9

1)
1) (L+y?)dx— yv1-x*dy =0 2) y':(1+_j

2X
3) 2xcos® ydx — (x* —3)sin2ydy =0  4) xy’—ﬁ—x:O
' 2 "\ y,_
5) Xy'+y=xy°Inx 6) Xy yIn?_O
7)Y+ (y) =0 8) y* -y =1
1-y
X %=2X—y
9) Y -2y +y= 10) dyt . x(0) =1, y(0)=0.
9—x? E=4x—2y

Bapuant Nel(

y

2y +1
) i 2) xy'=y-cos’In=
X

DY = ay+3

1
y 1 y — r_ X=——-
3) (7 +1)dx+xe’dy =0 4) Y - yig osx
2 2 ; ” 1 ' 1
5) (" —x7)y'+2xy =0 6) Y+ ¥V =23
7) yy"+(y)? =0 8) Yy +5y" + 4y =sin 2x — cos x
g %:4X_y
9) Y +2y'+y = 10) 1 dy  X(0)=-2, y(0)=0.
1-x° — —x+2y



Bapuanr Nell

1) xyy'=1-x* 2) (x—y)ydx — x2dy =0
3) 2xydx + (x* —e’)dy =0 4) y'(x+siny) =1
5) ydx +(2y/xy —x)dy =0 6) xy" =2y’ - X
)y () =Yy 8) y“ —16y = x? —e*
dx
E: X+Yy
9) y"+y = ctgx 10) | dy , X(0)=0, y(0)=1.
— =-2X+4y
dt
Bapuant Nel2
1) ydx+ (y/xy —/x)dy =0 2) y’:%—xsinxctg%
3) ydx+ (x+6y*)dy =0 4) y = X(y'— xcosXx)
5) y'+2y=e*-y’ 6) Y'+(y)* =x(y)
7y =(y) - (y) 8) y" -4y’ = x(3+e?)
dx
! a ) (0)=-1, y(0) =2
9 V' -y=—7 10 » X)) =-L4 yU) =2
: e +1 ) d—y:—4x+4y

dt



Bapuant Nel3

1) cos’ X - yy' = X 2) (x—y)ydx —x*dy =0
3) x+# dx + y—; dy=0
yz X2 y yz X2

4) yr+3y:e2x 5) Xyr_y:y3
6) X2ym+2Xyn_1:O 7) (yl)Z +2yyﬂ :0
8) y” +9y’ = x* —sin 3x 9) y"+y =tgx

%z -X—=2Y
10) d; ) X(O) = _11 y(O) =0.

— =3X+4y

dt

Bapuant Nel4

1) (L+x3)Y +yV1+x* =xy, y(0)=1. 2) y+/x*+y> —xy’'=0

y’ 2y
3) 4—7 dx+7dy:0 4) y'cosx — ysin x = sin 2x
5) yl_ Xy — _y3ex2 6) Xyn_ yr — eX . XZ
7) y'tgy =2(y')° 8) y* —8ly = 27¢™
e2x % =2X — y
9) Y —4y'+5y = 10) df, , X(0)=-1 y(0)=0.
COS X 7 — X+2y



Bapuant Nel5

1)y =2ylhx y(e)=1.
3) 3x%e’dx + (x°¢’ —1)dy =0
5) 3y’y +y®=x+1

7) 2yy" =1+ (y)’

2) xy'cosl = ycosl — X
X X

4) xy'+y=Inx+1
6) yxInx=y’

8) ym_l_ yﬂ —6X + e~

dx
-2X E =X+Yy
9) yn+4yy+4y _ e - 10) dy , X(O) =1, y(O) =0.
X — =-5x -3y
dt
Bapuant Nel6
' 2 _4X2
1) y' =42y + 3tgx 2) Y = y Xy

5) %dx+(ln X+cosy)dy =0

7) (L+x3)y"+(y)?+1=0

14 y 1 X
+l=Zctg=
NV Ty =3997

, X
4)y—l+——=0

2

Xy
6) Y +Yy(y)’ =0

8) y"' -6y’ +9y =sin2x

dx
— =3X+2
dt y

10) d—y:x+2y

dt

10



Bapuanrt Nel7

' X
By =Ayt+2y-2.—X

cos”(x?)

3) y—Xxy=X

2
5) L —dx+2Jx - ydy =0

y+xsin2l
2) ¥'= X
' X
py+I-2=0
Xy

6) Y'(y) =2y, yO) =2, yQ) =2

24/x
7) xy"—y'=0 8) y'+4y +20y = xe*
%§:3x+y
9) y"+4y =ctg2x 10) 3 dy
— =X+3y
dt
Bapuant Nel8
Ny = 4/3x -1 , y,_x2+xy+4y2
) y3sin(y4) ) X2
' LZZ y'_lzx_z
3) Y =xy+e HY ==
1 Jx
dx——-dy=0 Vi -4y'=0, YO =1 y(Q)=-4
9 oixy 7 Y 6) y'y* ~4y'=0, y1) =1 y'()
7) y"=xe” 8) V'+4y +3y=xe”"
X %%:4x+2y
9) y' -8y’ +16y = 10
) X’ ) %:2x+4y

11



Bapuant Nel9

o i)
1) y' =3 (3y+1)2 - Clgx 2) y' = -
3) Y'+th-y=coszx 4) yr_y:ys

5) (X + 2xy)dx + x*dy =0

6) y'y+(y)?=0

7) Xy"=2x-Y’ 8) y'—3y'+2y =xe”
1 %:2x+3y
9) Y'+y=——o 10) | dy
COSX Y _yiay
dt
Bapuanrt Ne20
,_sin® xcosx XX+ y)+ Y
1Yy 325y 2) Y = N
r LY 4 , 2?2
+Z =X v %
3) Y+ 4)y' -y 72

2X NG
5) ~dx — = dy =0
) y y?

6) y'y' =18y, y(5) =1, y'(5)=3.

7) 2Xy"_ y':0 8) yll_6yy+5y:COSX
1 %:2x+4y
9) Y'Hy=—— 10) 1 dy
SinX a:4x+2y

12



Bapuant Ne21

n3x

X

1) y' =tgy-
3) y' —tgx-y =sin®x

5) xy?dx + (x*y +cosy)dy =0

7) y'ctgx-2y'-2=0

—X

Bapuant Ne22

9y _y:2+e_x
, Ay +4y+1

D y= sin?(1— 2x)
— Y x.3x

3) ¥'= +x-Vx

5)£dx—i2dy=0
y y

7)Yy =Xy =0

9) y'+y =ctgx

Y+ yln3l
2) Y =
4) y'+xy = xy*
n?2
6)yy"—3vy“—(if

8) y"'—4y'+3y =sin2x

. X(y +9x) - y?
2y = (y X2) y

4y -y=y

6) y” — 2yyr

X

8) y'+4y' +13y = xe

dx =5X—-4y
dt
10) dy =—4X+5y
dt

13



Bapuant Ne23

2 2

, X+
1) y'=3/2y +3-x*cos(x®) 2) Y = ny
' y 3 ' 1
+==3/X +2y=—
)% y 4)y +z2Yy /2

5) 3x*y*dx +2x°ydy =0

!

6) V'Y =(y)’

7) xy”:y’lny; 8) y'-3y'+2y=x*+e"
% —3X+Y
"+16y =
9) y y sin4x 10) d_y:X_gy
dt
Bapuant Ne24
XZ'\N y+xctgl
' ' X
1)Y= 2) Y =
) Y )
3) y’—%:& 4) y' -3y =4y
Jyax+X_d
5) 2X4/ ydX + y=0 6) Yy —2(y)? =0
) 2Jy )
7)Yy =(x=-1)y" 8) y'+y =xe™
4 d—)t(=2x+5y
9) y' -6y’ +8y= — 10
) 2+e” ) %:5x+2y

14



Bapuant Ne25

, In® x o9+ xy(X +
1) y' =cos’(3y —1) 2) Y= y3( y)
X X
’ 3_)(72 Y 2 _
3) y+xy=x'e 2 4)y—;—xy =0

5) 2xy’dx + (3y? +2x*y)dy =0 6) y"—y,/y' =0, y(0)=6, y'(0)=9

7) y'(e*+)+y' =0 8) y'+2y +y=2xe”"
dx =X-2Y
0) y'+ Y =Tetg X 10) 1
4 4 2 ay_ —2X+Yy
dt
Bapuant Ne26

2
y + x,/1+i2

1) y' = y®cos® x-sin x 2) Y = -
1 2
’ y T ’ y y
—— = Xe X ————:O
3) Y 2 4)y N
5) (2x+ y)dx+xdy =0 6) 4(y)> +yy"=0
7Yy +y=xy" 8) y"—5Yy'+6Y = 2C0SX +Sin X
o %:2x+3y
9) V' +3y'+2y= ~ 10
: 2+e ) ﬂ:3x+2y

dt



Bapuant Ne27

|
1) Y =y =

X

X3

3) y'+x’y =3x% 3
2X 3x*

5) —zdX—| —+Yy  [dy=0
y y

'
n_ Y

=X
7Y y
ge—3x
14 _ 3 ’ —
9) y y 3+ ef3x
Bapuant Ne28
,_sin?*(2-4y)
X% +4x+8

2

3) Y —xy=+/xe?

5) (2x + y*)dx + (3xy? + y®)dy =0

)y =%y

"_3y'+2y=
9) ' =3y'+2y =7

2X+Yy
X

y+X

2) Y =

4) y'+ yzx—%=0

" _ n2 L, —
6) YY (y)ln(4j 0

8) y' -7y +12y = (x +1)e>

, 16X° + xy(x+Y)

2) ¥ =

y

4) Yy —=+xy* =0
X

6) (y)*+2yy"=0

8) y"—4y’+3y =c0s2x —sin 2x

= 2X -
dt y

10) y——x+2y
dt

16



Bapuant Ne29

' X
1) y'=32y+1

9 + x?

3) Y +xy=~2x+1-e 2
5) y? cosxdx + 2ysin xdy = 0

VY

, YO =1 y(@)=0
X

7) y” —

Bapuant Ne30
1) y' =ctgy-4x-1
3) y'—x’y =x%?

2
5) —%dx+(ﬂ+ y4]dy:0

X
Y
7Yy + 2 =0
y”+ y 1
9) Y=
4 72 cos—
T

2y ==
Xy
4) y'+l—xy3 -0
X
6) y'=y'e’

8) y'+3y -4y =(2x +1)e*

_:X—3

dt y
10) dy

— =-3X+Y

dt

o 3xE+y?
gy =2

Xy

1) y,+%+xzy3:0

6) (y)* +2yy"=0

8) y"+5y' -6y = 3c0s2X

%:3x+4y

dt
10 dy =4x+3y
dt
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